

Realiza las siguientes operaciones

$$\frac{2}{5} + \frac{3}{7} = \frac{\square}{\square} + \frac{\square}{\square} = \frac{\square}{\square}$$

$$\frac{4}{9} + \frac{11}{3} = \frac{\square}{\square} + \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$\frac{7}{2} - \frac{1}{5} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$\frac{6}{5} - \frac{2}{3} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square}$$

$$2\frac{1}{4} + 1\frac{1}{3} = \frac{\square}{\square} + \frac{\square}{\square} = \frac{\square}{\square} + \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$3\frac{1}{2} - 2\frac{2}{3} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square} - \frac{\square}{\square} = \frac{\square}{\square}$$

Recuerda simplificar
y transformar a
mixto de ser
posible.

